Haas Technical Documentation _
Effective Date: June, 2007

EC-400/500 - WIPS - Installation

The tool setting probe is installed on a mounting arm that is secured to the rotary body. For EC-400/500 ma-
chines, this arm is secured to a mounting block installed to the operator side of the rotary body. The probe assembly
also incorporates a chip shield for these machines. See the following illustration.

Probe Arm
Mounting Blocks

Renishaw Probe
Mount Configuration

Marposs Probe
Mount Configuration

Tool Setting Probe Installation

1. Secure the probe arm and mounting block to the rotary body. Install the stiffener to the arm. Install the
probe mount block to the end of the arm in the appropriate configuration for your probe.

2. Install the probe on the probe mount block.
3. Indicate-in the probe stylus within .001" (0.03 mm)
4. Attach the chip shield.

OMI Mounting

1. Mount the OMI unit on the top cover as shown. Attach one of the brackets to the top cover.
Mount the OMI to the other bracket using (2) 10-32 x 3/8 bolts. Fasten the OMI/bracket to the bracket
using (2) 8-32 x 3/8 bolts.

— | | OMl inside .
machine oMl Split Grommet
& |
< g .

2. Remove the plug in the top cover and route the cable through the top cover to the control cabinet. See the
Electrical Connections section for the location of the OMI cable socket. Install the grommet (must be cut)
into the hole on the top cover.

Top View

3. Route the cable into the top of the control cabinet. Position the conduit so that it ends inside the J-box.
Secure the other cables on top of the machine using cable ties.



EC-400/500 - WIPS - Electrical - Installation

Warning

Power down the machine before any work is done.

1. Marposs Installation Only: Open the control cabinet and install the E83T interface module to the back
plane of the control cabinet using a short section of DIN RAIL and a 1/4-20 screw or 10-32 screws, depending
on the control. (See figures below for location).

Upper Entry Into Control Cabinet:

Route the cable conduit into the J-box at the top of the control cabinet. Pull the cable down through the center
vertical wire channel and route to the E83T unit. Connect the OMI cable to the 6-pin plug on the E83T.

Lower Entry Into Control Cabinet:

Route the cable conduit to the bottom of the control cabinet. Secure the conduit jacket to the outside of the
control cabinet with a cable tie. Route the cable up through the center vertical wire channel and connect to the
6-pin plug on the E83T plug.

Side Entry into Control Cabinet:

Use the vacant hole in the side of the cabinet nearest to the wire channel above the I/O PCB. Slide the cover
plate (25-1391) over the conduit and secure to the cabinet using two PPHS 8-32 x 3/8" and two 8-32 hex nuts

with lock washers. Fasten the end of the conduit to the cover plate with the conduit nut. Route the OMI cable
along the center horizontal wire channel and connect to the 15-pin plug on the E83T unit.

E83T
N\ , Conduit Jacket ends
¥ |i inside J-box
| Tor T
I ~E83T i :Am S i / Vec.tor
I | L AMpPs Drive
ST / Labdidn
! :Amps U \ V' —— |
A N Vector —— e Cable T
R Drive . 33,0614
~— Ca/ble 3§_aob6'1e5 or 60-0070
—— 33-0614/60-0070
Cable or 33-0617 Transformer
33-0615/0617
/ Transformer /0
1/0 PCB |
PCB
Cable Tie Cover Plate (25-1391)
Secure conduit jacket outside
of control cabinet
Upper / Lower entry into Control Cabinet Side Entry Connection

Conduit /No Nut Conduit / Cover Plate

Nut
Top and Bottom Entry Cable Detail Side Entry Cable Detail

Cable Connections
Early Marposs Connection



A single cable incorporates the probe wires and power supply into the one cable.

1. Plug the Haas Probe cable 33-0617 into P77 of the I/O PCB. Plug Marposs cable 60-0070 into the E83T
unit. Route these cables along the center horizontal wire channel and join the cable plugs.

2. Plug the M22 connector on the Marposs wiring harness into the 1/0 board.

E83T Detail
< 15-pin
to /0 PCB
6-pin 5
oom >{[]

ORN NO_SKIP
1 5
= EL:U WHT/ORN SKIP_RTN

H— BLK NC_SKIP
g i ] o a o & 3o oo
I WHT/BLK SKIP_RTN com | com
1 [aIs nc nonc _no
M22 M2

WHT/BRN EN_RTN
—
Marposs Cable  — BRN PROBE_EN : ; §H
60-0070 "?T:u - Haas Cable A
@ = WHT/RED 24V_RTN 33-0617

RED 24V 1/0 Board

Black NOTE: Plugs Shown
. T sooossa [ [(reex Are Tucked Into
[ ] Cable Guide Area.
12 456 1314 &
oG o000 0lo Marposs Optical
E83T Transceiver

New Marposs Connection
1. Plug probe cable 33-0615 into P77 on the 1/0 board.
2. Plug the jumper from the probe cable into M22. Plug cable 33-0614 into the E83T interface.

3.Route cables 33-0615 and 33-0614 along the center horizontal wire channel and join the plugs.

E83T Detall
15-pin
to /0 PCB
6-pin -
1
to OMI §
TorRED 2>
S WHIBLK <22 NG
S WHTEL W22 /0
7B <PROBE_EN- 0 0 0o 0o
6: BLK <NC_SKIP> nzﬂ:o non]O
h—1 —'—ngE;T-‘_‘/_# 6 ORN <NO_SKiP> M22 M23 -
IR [S] L
[e]l alr
[NEE
E\__‘:
Haas Cable /0 Board
4 YEL <M22_COM>
Cable ¥30614 P 33-0615
15-Pin Phoenix Contact NOTE: PlUgS ShOWn
Are Tucked Into
Cable Guide Area.
Marposs Optical
Transceiver




Renishaw Electrical Installation

1. Route the OMI cable through the top or bottom of the control cabinet as shown, depending on the installa-
tion performed.

2. Join the OMI cable and 33-0615 cable plugs. Plug the Haas probe cable 33-0615 into P77 on the 1/O
board. Plug the jumper from the probe cable into M22.

A Conduit Jacket ends

U< inside J-box

i i'?njl?sl i | El Vector

[ O S '\ Drive

= — Cable 33-0615—]
/O
PCB Transformer
Cable Tie

Secure conduit jacket outside
of control cabinet

Upper / Lower entry into Control Cabinet

W hite

10: RED <24V>
9: WHT/BLK <M22_N/C>>
8: WHT/YEL <M22_N/O>

7: BRN <PROBE_ EN>
6: BLK <NC_SKIP>

— 6: ORN <NO_SKIP>

o (o] [elelye)
com com

nc nonc no

M22 M23

P77

1: WHT/ORN <SKIP RTN>

2: WHT/BRN <EN_RTN> /
3: SHIELD <SKIP RTN> S
4: YEL <M22_COM> Haas Cable
5: WHT/RED <24V_RTN>. 33-0615

1/0 Board

Renishaw Optical

- NOTE: Plugs Shown
Transceiver

Are Tucked Into
Cable Guide Area.

Blue
Violet
Gray

K]
2
<
wn




